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3 X rEoer st
R s e 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEETIEETRE
5,000,000& 5,000
11 #AIAHIXIZ S 5,000 5,000 0
O2zA2l J&X At
5,000,000& 5,000
Hlatastd &X 45,000 105,000 260,000
401 AIEHIZ R 0HYI 45,000 105,000 260,000
01 Al&HI 45,000 105,000 260,000
OStHFHAXN S HigASE AX|
15,000,000 *3H 2 45,000
et afaa 24 52,502 79,340 N\26,838
201 et23| 52,502 52,840 A338
01 At22te|Hl 32,300 32,800 A500
OXoll HI&2LA 24 2,000,000 2,000
OO AEA & - £2Y| g
60,0002 4852 29,100
OO A Al BTN et
50,000& * 122 600
OTotE At ets ADE
50,0008 %122 600
02 S3=gHl 20,202 20,040 162
OMtat&Ed ) =R Motz
20,0003~ 1CH =122 240
ONtegs REEZI] ALE
5,0003*12CH~ 122 720
OMHEEAIAH(IAZ4E) M
50,0002 «12CH* 12& 7,200
OMoiSAEZE Stes & J|es 4,080
CHEXR dEE 100,000 * 12 1,200
SRAESDNESRFSES Su) 240,000 122 2,880
OXIRIIEE HEI| ALY |SXE= 7,962
JI=A(HAN) B 180,000 ~12& 2,160
dEME 23 168,000« 12& 2,016
AN BE 107,000& «12& 1,284
- ARENE 83 83,5002« 123 1,002
- FYMAEEX] B
125,000~ 128 1,500
CHHAI 7+ Tt THOH A HA X EBIA 2,322,000 0 2,322,000
= 1,161,000
AlHI 580,500
-l 580,500
401 Al HIZ S OHbI 2,322,000 0 2,322,000
= 1,161,000
AlHI 580,500
Tl 580,500
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R s e 2 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 Al&HI 2,322,000 0 2,322,000
OCH X7 XA THoH RIS X =2 HHIAMY
2,322,000,000& 2,322,000
= 1,161,000
Al 580,500
Tl 580,500
Kloterd 2te | H & 45,000 0 45,000
401 AlEHIZ S 0HbI 45,000 45,000
01 Al&H| 45,000 45,000
OXIgtt M 2| HE 8 S
45,000,000 45,000
oS X St 2t 69,937 76,237 26,300
STlE28 Ot 15,000 22,000 AT7,000
307 212+01& 15,000 22,000 AT7,000
06 28= 15,000 22,000 A7,000
OS2 It 15,000
R 4 2,000& *2,50024 5,000
a3 Ity 10,0002 *1,00024 10,000
SHE A= RAl2c 3,037 3,037
201 fet= 3| 3,037 3,037
02 S3=gHl 3,037 3,037
OdHE AlE= =X2c
73,408,000 #3. 76%+110% 3,037
THEFARE &ICH 11,900 11,200 700
301 LEIE NS 11,900 11,200 700
4 IIEt2 8= 11,900 11,200 700
ORIHEEI} HEE
340,000 #3652 11,900
a8 s X 40,000 40,000
401 Al HIYL S CHYI 40,000 40,000
01 AlZH| 40,000 40,000
OXt==& &1 X2 40,000,000& 40,000
420189 st 296,529 317,967 A21,438
= 18,980
AltI 32,371
Tl 245,178
g Ws29 18,550 18,429 121
= 5.810
AlHI 3,822
Tl 8,918
201 er2 3| 9,950 10,409 A459
= 3,230
Alt] 2,016
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SN SR
B Tl U PISID|E s
CHel: M20I2re 2435} (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 14,000 14,000 0
Ooug? SA=g 14,000,000 14,000
AlHI 7,000
Tl 7,000
Qe HladgsAld 2 24,200 24,400 2200
AlHI 12,100
Tl 12,100
401 AIEHIZ SR OHYI 24,200 24,400 A200
Altl 12,100
Tl 12,100
01 Al&HI 24,200 24,400 A200
OHIAZHAL +THM L RAL4
24,200,000 24,200
AlHI 12,100
Tl 12,100
g e 2,000 2,000
405 AtatsE = 2,000 2,000
01 L ESFISHI 2,000 2,000
oulgel & stHL=20 &bl 2,000
2y &l 1,000,000 1,000
st =0 &l 1,000,000& 1,000
gl sl A=A 25 42,000 63,000 221,000
= 12,600
Al 8,820
Tl 20,580
405 AHAHE S 42,000 63,000 /21,000
= 12,600
Altl 8,820
Tl 20,580
01 Tt =S F=HI 42,000 63,000 221,000
ORISR SMYR B=l B3
42,0002 %1,000H 42,000
= 12,600
AlHI 8,820
Tl 20,580
QIR St B=0 2Z(AAAIY) 16,800 21,000 24,200
405 AHAHE S 16,800 21,000 24,200
01 AL =S F = 16,800 21,000 N\4,200
ORISR SMYE B= B3
42,0002 *4007K 16,800
g usse 125,278 17,617 7,661
201 er2 3| 29,899 29,89 0
01 AtR2t2|HI 29,899 29,899 0




SN QHEERDY
S W & 2gees 23t
Rl A0l 243t (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Onlgts s AA 1,100
M| ARG
100,000 x2ZH 22 +23 800
S0 W& 100,000 *3H 300
OouAN=SE 24 495
M 4,500 x2S +502 «00% 405
018 25,0002 *42 A %90% 0
ST IMEIEN
8,000 x4 40 *90% 1,182
O AOIHDS AL 2
1,200&+12,500% 15,000
Oigs HAEX S FI%t 29
11,000,000 11,000
OSH2ACINE & AL 2
70,0002 «4IH*90f% 252
O E2= M
5, 0002 x2007H*90% 900
203 HE=H] 900 900
03 A= PR FAIH| 900 900
oug? gRFA 1,000,000 *90f% 900
301 LEetE2 N = 94,479 86,818 7,661
0 MSRREEYS 94,479 86,818 7,661
Oulg?us GFEX 62,237
= 1,500,000& x3E 12 54,000
-S4 7,0003x3E 222« 12 5,544
==l 3,400 +3& 22« 123 2,693
OSE2NHE 28 EREX 20,746
=i 1,500,000 x1& 12 18,000
-S4 7,0003 x1H*222 12 1,848
==l 3,400 x 18 »222 123 898
OAZI=223 UI=H|
309,8403+30&H 9,296
OA SRR S4XE & MH24EE
0,000& 110 2,200
HlI&OHHl 95 24,093 25,093 21,000
201 er23 | 24,093 25,093 21,000
01 At2teltl 24,093 25,093 21,000
Obl&itHel A5 24,093
-2A HSAHEAN MF
30,0002 *302*90f% 810
-HIMUHIA S WA
25,0003 x29+90% 653
o= RSN R
45,0003 *302+90% 1,215
sldsd =29 19,080




SN SR
B Tl U PISID|E s
CHel: M20I2re 2435} (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-E2= M 100,000& x4Z 400
-ANRES 150,000&#25 300
-HEFHI(SAD], Z8IH) |X
150,000 *4CH 600
-SAAEe 2y Y
36,0002/ +30H 1,080
X HB2RX 24
10,0002 902 » (42 x3A1+12 % 14]) 11,700
2% YS9 LA
2,000,000& 2,000
-UEA=RY S 3,000,000& 3,000
-2A g dNEd 2Al 2,33
-E2E MH 150,000 *45+90f% 540
-EUSS(EY, A% A
995,000 9%
-OtL2A &2 400,000 2 800
QIRIAlE - ZH] 2¢el 25,345 27,765 A2,420
AlH] 230
Tl 25,115
201 er2 3| 13,845 12,765 1,080
AlH] 230
Tl 13,615
01 AtR2t2|HI 2,085 2,205 A120
O=ZIAME N=EJ 525
o 7002 «200H 140
= 7,700 *50H 385
OUIIAIE SHLHEX & 460,000& 460
AlH] 230
Tl 230
O= Al SHHEXIE HIZ
50,0003 *107H 2 500
OsS=xAlE =X UH 600,000 600
2 35234l 11,760 10,560 1,200
Otlalg=Ald &=
70,0003 * 1404 2+ 123 11,760
401 Al HIZ S OHbI 11,500 15,000 A3,500
01 AlZ2H| 11,500 15,000 23,500
Otlalgs & HIgd28E)| R+
8,000,000 8,000
OtlagAlE dzZAlE EX
3,500,000 * 104 2~ 3,500
ANBISR2F 2l 1,400 1,800 2400
201 er23| 500 900 A400
03 A= SHI 500 900 2400




DA OHEB}
S THHHOE 2 eIgkD|BE 25t
chel: MEDIStY HA 3 CERED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OMI=2RE FHAXIA A
500,000& 500
203 YR EAY| 900 900
03 Al EZIQL =ZIY| 900 900
ONBI=2R 22| 22w
1,000,000 *90% 900
QIR0 HLI|GeAL H| 963 963 0
201 Ler23| 963 963
01 AtR2elt] 963 963
Ol &4 IS At 963
OHLHE HIZF 80,000 *4JH*90% 283
BEX M 1,500 *4000H*90% 540
=& M= 1,500 & *1000H*90% 135
OrM st TAIDIBIAIE &4 4,335,974 4,566,405 A230,431
Altl 139,040
sl 4,196,934
JIMAIEE 2tel 3,384,428 3,246,450 137,978
s 2l 230,522 211,417 19,105
201 B2 AY| 60,522 51,417 9,105
2 SE=29| 60,522 51,417 9,105
OsNs2I| AIZEH] E4:H|
10,000,000& 10,000
OS=Exz Y sWwsY)| s 9,243
COHE BRI LA
600,000& =123 7,200
TSP 1,785
-2z 6, 1603 * 10kW+12& *1 . 1 814
-ANEZ 1053 *350kIWh*2CH* 12& *1 . 1 971
=RE=d 258
-J|2= 5,500 x12&*1 .1 73
-ANEZ 14,000 12&*1 .1 185
Ot =2 |usZI| sAl2el 9,243
OHE PR AR
600,000& <122 7,200
&g 1,785
-2z 6, 1603 * 10k 12 *1 . 1 814
-ANEZ 1053 *350kWh*2CH* 128 *1 . 1 971
== 258
-2z 5,500 x12&8*1.1 73
-ANEZ 14,0003 *12& *1 .1 185
OS2k UIRs032)| |AI2 10,342
oMt
600,000 =12 7,200
SIS 2,884




A OS2
XE: OIFat CAID|BAIE R4
2l JIMAIEE 2l (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
-2z 6, 1603 * 15k 12 *1 .1 1,220
-ANEZ 1053 *600kWh*2CH* 12& *1. 1 1,664
SN 258
|22 5,500& 128 1.1 73
-MEZ 14,0002 x12&*1.1 185
OUHE BH=NME 2 220 Sz 7,325
SRl W LI
400,000& *12& 4,800
M2 2,478
-2z 6, 1603 * 10kW+ 12 *1 .1 814
-MEZR 105& 1,200k 123 1. 1 1,664
stz 3,850+ 128 47
OAet EAHIOIE &2D| A2 7,517
orMzie|tHei =2
400,000& *12& 4,800
&=z 2,459
-JIE2g 6, 1602 *20kWx 12 *1 .1 1,627
-ANEZ 1053 *600KIWx 12& *1 . 1 832
== 258
-2z 5,500& 128 1.1 73
-ANEZ 14,0003« 128 *1 .1 185
Ottil=s 12Xt swWsZ)| szl 6,852
orMzte|tHd =2
400,000& *12& 4,800
- MI|Z 1,808
2= 6, 1602 * 12k« 128 *1 .1 976
-ANEZ 1053 *600KWx 12& *1 . 1 832
R =—Tf=d 244
-2z 4,400 128 *1 .1 59
-MEZR 14,0003« 128 *1 .1 185
401 A& B 20HY| 170,000 160,000 10,000
01 Al&HI 170,000 160,000 10,000
OLE gusdJ| A
85,000,000 x2CH* 171 2 170,000
2ots 2tel 756,843 617,916 138,927
201 Ler23H| 434,402 283,776 150,626
02 2324l 434,402 283,776 150,626
O2oE B48 EUE AR
35,0002 =12+ 10H 420
OBots MIIAEBZ 352,332
HMI2(LIEE, HE)
6,970 *3,0000H* 12& 250,920
&I 2 (LED) 3,130&*2, 7000 * 12& 101,412
Oooft3&xY RN 81,650




2A:

I OHMSH TAIDIBIAIE =4
chelr JIMAIEE 2t EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
LD B2xY S0|7 24
250,000 +8,800S* (3652 *5A1 2+/50, 000A
2h) 80,300
ZHEE 2 WPSeIE
5,000, 0002 27 IH* 1% 1,350
206 M=l 114,868 111,567 3,301
01 M= HI 114,868 111,567 3,301
O=ots E==Mg 7Y 114,868
-UHEEYD
10,4502 +1,500S* (3652 «12A12+) /16,000Al
2+ 4,292
LIESEZ otdD]
15,4002 %1,5005*10f% 2,310
-HEBZ
35,2002 *1,5005*(3652 *12A12+) /12, 000A
2t 19,272
[i=g=E=gelzSh)
31,9002 *1,500S*10% 4,785
- LEDSII#
300,000 2, 700S (3652 *12A12+) /50, 000Al
2t 70,956
s 2| 30,0002 %5, 7005 *3% 5,130
- 2os JIF 30,0002 %5, 7005 *3% 5,130
CE2eE Ml 1,500 *5, 700 S *SM*3% 1,283
288 10,0002 %5, 7005 *3% 1,710
401 AlEHIZ 201 207,573 222,573 15,000
01 A28l 207,573 222,573 15,000
O 2otsS =cIEA 134,373
2ots 2l 58,4233 *2,3000H 2~ 134,373
O=2ALAX S HotsS MESA} 73,200
2ots dE 732,00024 %1005 73,200
lesS 2l 1,726,405 1,723,459 2,946
201 er23y| 1,108,095 1,040,999 67,056
01 AtR2t2|HI 540 480 60
OEZ2xY OFHEZ A S4H|
9,000&+5& 123 540
2 S22l 1,107,515 1,040,519 66,99
oizs e 962,405
JIE2e 6,200 +500 2H x5kix 128 % 1.2 226,440
- MNEZ(UHE LES)
112.62*(0. 44kN* 1505 +0. 28KNB00S )+ 12x365+ 1
14 131,563
- At2Z (LED)
112.62%(0. 15kW+6,50040. 05KW*2,000) * 12 A1 24+3
652+1.14 604,402
OJzs RN SM= 55,110




2A:

I OHMSH TAIDIBIAIE =4
el JIHAIEE 22l (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEMN Stz 55,110
-JZ=2 4,000 *500CH* 122 %1 .1 26,400
-AEE 30 +500CH* 123 % 14524 %1 .1 28,710
Ozs R 70,000
HIQHTA LHEBAL R
40,000,000 40,000
U =2 Ot28 E
2,000,000 # 15)H 4 30,000
OJIRE BHAIAY SX24 ISR
20,000,000 20,000
206 MH=HI 217,350 216,460 890
01 MHZH| 217,350 216,460 890
OJzs E=+=XtH 217,350
- LEDS 17 (WPSE )
250,000& *6,500S* (1241 243652 ) /50,000Al
2t 142,350
2gsr Z80| 1,000, 0002 *4807H*5% 24,000
L FSE 2,000,000 *4807H*5% 48,000
22E 3,000,000& 3,000
401 AlEHIZ 201 401,000 466,000 265,000
01 Al&H| 401,000 466,000 65,000
ONz2sS T2 HeSA 212,000
2 E2E 2 WA
1,200,0002 x150& 2t 180,000
l2s EA & MEX
120,000 *1009H 2 12,000
CFAXED| EX S JIEFSAL
50,0002 *4000H 2~ 20,000
O-=de uH & 2+
12,000,000& 12,000
O2025E == FRP JIZ2S WHMSA
100,000,000 100,000
Oy =@ iz =lel 2HS EXIA
S (FRIF0I0At) 1,000,000 25 2,000
O¥gxssn 2 T2XYH MEAML(F
BIEOI 0 &) 45,000,000 45,000
OLS0I0tSt2 otd=EdH 23 0t E
& e 30,000,000& 30,000
TEAL HI|&H| 2t 370,658 393,658 /23,000
201 Ler=23 | 370,658 393,658 /23,000
2 s5=34l 370,658 393,658 A23,000
O7EAMN S3a= 310,982
IHAL WD 247,520
== 8,320 »850k* 128 % 1.1 93,351
N1 1093107, 15 TKih* 12+ 1.1 154,169
S H2g2 - SIIANRA HIg 34,126




FA S E
XE: OIFat CAID|BAIE R4
Celr JIEAIZE=E 22l EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
s 6, 1603 * 164k 12E %1 .1 13,336
-AFEE 1053 %15, 000kith*12& %11 20,790
CHIzE2 &g 11,976
= 6, 1603 »45kW= 123 % 1.1 3,660
NE=1= 10521 %6, 000Kih* 123 % 1.1 8,316
DA Y OB MIlHE BRI A4
= 1,345,344 128 16,145
- TEAD EI1EH ZIIEM =2
1,215,0002 A 13] 1,215
OFEAL HIIEH B2 57,000
- KHH =200 750,000 x 42 3,000
- =Al2eld 18,000,000& *133] 54,000
O=FHAL &2 &I =X 2,676
CAngE2 & A2 ARSE wH
2,160,000 2,160
HEHI(BR)
1,433 +60L+0.5A1 2tx 12 516
EEXHAE HEAL 150,000 150,000
401 AIEHIX 20 150,000 150,000
01 AlZ2H| 150,000 150,000
O=2XZAIE HE A 150,000
- LED SJ17 Al 750,000 *2000H 150,000
212 ZEAIE FHl 150,000 150,000 0
401 Al HIZL 201 150,000 150,000
01 Al&H| 150,000 150,000
Oarl ZEAIE EH
150,000,000 150,000
=B Z 2t 951,546 1,319,955 N\368,409
AltI 139,040
-l 812,506
Bi=EZd 29 951,546 1,319,955 368,409
Albl 139,040
Tl 812,506
101 e124d| 34,913 34,19 714
M ORINZZ2NSE S 34,913 34,19 714
OJIIHZZ2THEEE) WS 34,913
- QIAHI(FEREE)
89,7763 x2H+28 L6 30,165
-mUASEEE 30, 165,000 «5% 1,509
-RUAAEEE 30, 165,000 *3.545% 1,070
- HIeLEE= 1,070,000 %12.95% 139
- NEEES 30, 165,000& *1.75% 528
AHEE S 30,165,000 * 1% 302
SXEE 300,000 *2& 600
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